Lec,‘]we_lz’ /nnev’ /Droc(uc;l' S/Dace, (Dmfm;hm)

_Cé;%!ij Give the concept of WMemurement ( Mag nitucle,
jf/'ﬂ‘”\ ;) angle , Orl‘b\ﬂyow“&"{'g /" Per[)end"wiwr") for
Vectovs .

D?'Fmrhowl [,e_t \/ \ector S]mce, over (F. An inver DYodud

OVi \/ s o ‘{‘unc’-/on acgngnma QUQYV& DIO{CRJ Palr o‘F Ve(:fvrs

ﬁé\/ A Scalar 'V‘H'— denote nt\[y ‘<I 3)/ with

UM tf\llown7 PYOPQY'I‘IeS ‘(:OV‘ \]—72 —‘3 7 € \Jc e l}"

() <x+2, g>“ <z j>+<2/j)
(b)<cx, 3> = c<1,j)
© 39> =<4, x> (7 = couplec Conjugation)
(d) <x,x>>0 , if X +0.
Remarf: » T£ F=1R , () Simply Weans <31<,9>’—<§,_>A<>
o l'f —3,’\31,...,—\-}” f’\/ , a\ ) a’-,-v’,a\ﬂé“:, {l\en:
. n —_ = N - -
(N Kz vy, 4> = 2014, 42

.- — 4 = n - - "
(i) <y, Z0Viy =< Za;, > = Z 0:<;
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= :_i_‘_-a\<$("j>
= >0 <Y, Vo>

=\




Exowmple |1 C" [ol X = (20,2, 20 € C" Y=(y,,.., 4n)e "
De-f'me : <—i,§7 = ;Ln‘_)(ig; ( Checte (a),b), (c), (d) are valid)

eg. X~ (1+,2+), y=Q,0)°

Then: <X, y>= (Hi). 3 +(240)T = 343 - 27+ |
= 4+2eC.
L‘.XAMIQZ \J=Cliv T R) . Let 36\/ Defne

<f9>= [0 gibdt . @y, @) ave obvioudly valid
hr Y, it fit)#0, {hen f)20 on come interve] T <lo,17],
(usima Cowjr;nui‘l'\& o‘F ‘F) So/ <{-‘,-F>=\L| -Fl-!;)io!'l: 2\[‘1{:*)2 70.

Example 3: Let X = (%, X,..., Xn) R
Y= (Yo g, o Y)EIR

R n
Defiwe: 4)9‘:0"%”‘"3"
. I‘F r‘>o, Le e o(e'{:iv\es an ynner '{)Yodudc.

]'{: r<o, <«,+> IS NOT an inner Droduct.
i’or x=l=o <>( X> irx\ r‘_Z'X’\’<o ((‘oﬂrac,iCHcoc?)—l-)-
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